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CC Geometry Honors

Pre Proof Properties/Axioms of Equality Practice

Questions 1 — 6: State the postulate that is demonstrated

1. DF =GH, therefore GH = DF 4. ms/1=90"and m/2=90", therefore m/1=m.~2
2. AB= AB 5. If DE +EF =DF, then DF = DE + EF
3. ZP=/Q and £/P = /R, therefore Z/Q= /R 6. mLRST =m/RST

7. Given: AB L BCand PM L MD A M D

Prove: mZABC = m/ZPMD

Statements Reasons

.AB L BCand PM L MD 1.

]

2. LABC and £PMD are right angles

3mLABC =90 and mLsPMD =90

Taa

4.90 = msPMD 4,

L]

MLABC =mePMD

Ln




D C

8. Given: AED and BFC,AE = BE and ED = FC r
Prove:AD = BC

A B
Statements Reasons
1. AED and BFC 1. Given.
2.AE+ ED = AD 2. Partition postulate.
BF + FC = BC
3. AE = BFand ED = FC 3. Given.
4. AE + ED=BF + FC 4. Addition Postulate
5.AD = BC 5. Transitive property (steps 2, 4).

R 0
9. Given: LSPR = LQRP and LRPQ = LPRS
Prove: £SPQ = L ORS
S

Statements Reasons

1. £SPR=LQRP 1. Given.
and LRPQ = LPRS

2. 2. Addition postulate.
3. LSPR + LRPO = LSPQ | 3.
4. 4. Partition postulate.
5. LSPQ = LORS S. Substitution postulate.




10. Given: m£ABM =3mZABC,m2ABC = 2msMBC
Prove: BM bisects £ ABC,

Statements Reasons
l.m£ZABM = lgm/_ABC 1. Given.
2.mLABC = 2m£sMBC 2. Given.
3.3m£ABC = msMBC 3.

4. 4. Transitive property
5.2ABM = + MBC 5.
6. BM bisects ZABC 6.
11. Given: AB = CD, RS = 3AB. LM = 3CD
Prove: RS = LM
Statements Reasons
1.AB=CD 1. Given.
2.3AB =3CD 2.
3. RS =3AB 3. Given.
4. RS =3CD 4.
S5.LM =3CD 5. Given.
6. RS=ILM 6.




